Hi=E7)

CNC Turning Tool

H MCFNE!
SPEIZEHI
i &l

—==71K: A01
FEF: KO

FREAT1°

MCFNR/L 1616H12

2020K12 | 20 | 20 |125] 32 | 20 | 25 PL25
2525M12 | 25 | 25 | 150 32 | 25 | 32 |CN-L120400 CTM617|MC1204 MS625 | HL1814

3232P12 | 32 | 32 |170] 32 | 32 | 40
3232P19 | 32 | 32 |170] 37 | 32 | 40 |cNOI19060101/CTM1022|MC1904| PL40 | MS830 | HL2217

H MCLNE
SpEZEH
i 1 & il

—==71FK: A01
FEH: Kot

150
200
260
260

o
—
w
o
o e o0 o

S

&

% MCLNR/L 1616H12 | 16 | 16 | 100| 32 | 16 | 20 o o 140

i 2020K12 | 20 | 20 |125| 32 | 20 | 25 PL25 o o 150

J SanNita | 25 |55 1c0 35 |55 35 CN-1204. |CTMG17|MC1204) [ 25 | MS625 |HL1814 ~+—et—o0

— 3232P12 | 32 | 32 |170| 32 | 32 | 40 o o 260

2525M16 | 25 | 25 | 150 | 37 | 25 | 32 PL30 e o 200

12% Soaa16 | 35 | 33 | 170| 37 | 33 | 40 | CN--1606.. |CTM822|MC1604| [ 20 | MS830 |HL2217| o | He0
3232P19 | 32 | 32 |170| 37 | 32 | 40 e o 260

I e | 40 | 40 |500| 38 | 40 | 50 | CN.1906.. |CTM1022/MC1904| PL4O | MS830 |HL2217 |3 _ | 420

%

i m ECLN 93°

ShEIZEH B
4 2 i

;E c==71E": A01

o

hz

9 ECLNR/L 2020K12 oo

£ 2525M12 | 25 | 25 | 150| 32 | 32 123‘55% Sd'gg LW-4 12'\'2 cs80 | C-6 mgig ole| 290

=1l] 3232P12 | 32 | 32 | 170| 32 | 40 - - e|e| 410
2525M16 | 25 | 25 | 150] 32 | 32 | CNOO | SMC CN oo 390

— 3232P16 | 32 | 32 | 170| 32 | 40 | 16060000 | —a16 | "W 8| 1o_o | CS80 | C-6 [LWO4O| 1 o' 44

1]

oo H MCBN®!

[=]

] S E ZE Hl

B

il c==71K: Ao1

T EfeF: Kol

MCBNR/L 2020K12 | 20 | 20 |125| 32 | 20 | 17 PL25 e e| 150
2525M12| 25 | 25 |150| 32 | 25 | 22 | CN..1204.. |CTM617|MC1204 PL30 MS625 | HL1814 | e | @ | 200
3232P12 | 32 | 32 |170| 32 | 32 | 27 e | e| 260
2525M16 | 25 | 25 | 150| 37 | 25 | 22 PL30 e e | 200
3232P16 | 32 | 32 |170| 37 | 32 | 27 CN..1606.. |[CTM822MC1604 PL40 MS830 | HL2217 o 260
3232P19 | 32 | 32 |170| 37 | 32 | 27 | CN..1906.. |[CTM1022| MC1904| PL40 | MS830 ° 260



http://www.mzginj.com
http://www.topshopw.com
http://www.mzgtool.com
http://www.mzcut.com

SpE ZE§l] Cylindrical Turning Tool

B MCKN#
5 & Hl
== 71K AO1 . |

MCKNR/L 1616H12 | 16 | 16 |100| 32 | 16 | 20 e o 140
2020K12 | 20 | 20 |125| 32 | 20 | 25 PL25 e | e| 150
2525M12 | 25 | 25 | 150 | 32 | 25 | 32 CN..1204.. |CTM617|MC1204 PL30 MS625 | HL1814 — = 200
3232P12 | 32 | 32 |170| 32 | 32 | 40 e o | 260
2525M16 | 25 | 25 | 150 | 37 | 25 | 32 PL30 e o 200
3232P16 | 32 | 32 |170| 37 | 32 | 40 CN..1606.. | CTM822/MC1604 PL40 MS830 HL2217 | e | o | 260
3232P19 | 32 | 32 |170| 37 | 32 | 50 | CN..1906.. |[CTM1022 MC1904| PL40 | MS830 e | 0| 260

m MCSNHE!
Aan . S
A5 Bl PP ‘
L1 N R
c==71K: AO1 . ‘
£ il — y
: E B
%
Hil
MCSNR/L 1616H12 | 16 | 16 | 100| 32 | 16 | 20 o] o 140
2020K12 | 20 | 20 |125| 32 | 20 | 25 PL25 e e 150 *E
2525M12| 25 | 25 | 150| 32 | 25 | 32 CN..1204.. |[CTM617|MC1204 PL30 MS625 | HL1814 ol e 200 A
3232P12 | 32 | 32 |170| 32 | 32 | 40 o | o 260 1{
E:S
E MCGNE! Hl
SMEZEHY [
i F HI A
== 71k: A01 7L
EREF: KO %
Hll
MCGNR/L 1616H12 | o fi
2020K12| 20 | 20 |125| 32 | 20 | 25 PL25 o e 150 =
2525M12| 25 | 25 | 150| 32 | 25 | 32 CN..1204.. |CTM617|MC1204 PL30 MS625 | HL1814 P 200 %
3232P12| 32 | 32 |170| 32 | 32 | 40 o o 260 IJ=1|J
m MCMNN-80&! -
SpEIZEH i
50/ {8l fi . |
=71k A0 . | jli;!;

MCMNN 1616H12-80| 16 | 16 | 100| 35 | 16 | 8 o | 140
2020K12-80 | 20 | 20 | 125| 35 | 20 | 10 PL25 o | 150
2525M12-80| 25 | 25 | 150 38 | 25 |12.5 CN--1204..|CTMB17IMC1204) 5, | MS625 | HL1814 =0,
3232P12-80 | 32 | 32 |170| 38 | 32 | 16 o | 260
2525M16-80| 25 | 25 | 150 | 43 | 25 [12.5 PL30 e | 200
3232P16-80 | 32 | 32 | 170| 43 | 32 | 16 | CN--1606..|CTM822IMC1604| |, | MSB30 |, 55471 o | 260
3232P19-80 | 32 | 32 | 170| 45 | 32 | 16 | CN..1906.. |CTM1022| MC1904| PL40 | MS830 e | 260



http://www.mzginj.com
http://www.topshopw.com
http://www.mzgtool.com
http://www.mzcut.com

Hi=E7)

CNC Turning Tool

B MCMNN-100%1
SpEIZEHI
40ERI A

—=—=J1K: A0
Eff4: KOl

MCMNN 1616H12-100| 16 | 16 | 100| 35 | 16 | 8 e | 140
2020K12-100| 20 | 20 | 125| 35 | 20 | 10 PL25 e | 150
2525M12-100] 25 | 25 | 150 | 38 | 25 |12.5| CN--1204.. [CTME17IMC1204| 5 | MS625 | HL1814 [ o 55
3232P12-100| 32 | 32 | 170 38 | 32 | 16 e | 260
2525M16-100] 25 | 25 | 150 43 | 25 [12.5 PL30 e | 200
3232P16-100| 32 | 32 | 170| 43 | 32 | 16 | CN--1606..|CTMB22IMC1604| |, \ | MS8B30 |, 55171 o | 260
3232P19-100| 32 | 32 | 170] 45 | 32 | 16 | CN..1906.. |CTM1022| MC1904] PL40 | MS830 e | 260

m MDPNN&
ShEIZEH

N S
4 e |

—==71k: A02
%\ ZFR4: KOt +BE62.5°
%
Hi
s MDPNN 1616H11 | 16 | 16 | 100 31.5 16 | 8 oL20 e | 140
b 2020K11 | 20 | 20 |125| 33 | 20 | 10 | DN..1104.. |CTM617/MD1103| © 20 HL1814| e | 150
2525M11 | 25 | 25 | 150 | 33 | 25 |12.5 e | 200
& 1616H15 | 32 | 32 |170(31.5| 32 | 8 MS625 e | 140
% 2020K15 | 25 | 25 |150| 39 | 25 | 10 | DN.1504.. |\ . IMD1506 PL25 2114l ® | 150
B 2525M15 | 32 | 32 | 170| 40 | 32 |12.5/ DN..1506.. MD1504| PL30 e | 200
3232P15 | 32 | 32 |170| 42 | 32 | 16 e | 260

" B MDJNEI EDJNH!
?z.zL SMEI%E I B - _I
-
I o A A |
B —=—=71kK: A02 e

. e mos S KO : Bi
5
kS
Hil

MDJNR/L 1616H11 16 | 16 | 100(31.5| 16 | 20 PL20 e o 140

2020K11 20 | 20 |125| 33 | 20 | 25 | DN..1104.. |CTM617|MD1103 PL30 HL1814 | e e 150

1] 2525M11 25| 25 |150| 33 | 25 | 32 e o 200
E 1616H15 32 | 32 |170(31.5| 32 | 20 MS625 o o 140
-l;]] 2020K15 25 | 25 |150| 39 | 25 | 25 | DN..1504.. CTM619 MD1506| PL25 HL2114 o o 150
ﬂ‘ﬁ' 2525M15 | 32 | 32 |170| 40 | 32 | 32 | DN..1506.. MD1504| PL30 e o 200
0 3232P15 32 | 32 |170| 42 | 32 | 40 e o 260
T

EDJNR/L 2020K11 | 20 | 20 | 125 | 36 | 25 | DNUD | _ | 1o | pyrg | O | o |LWO25 @
2525M11 | 25 | 25 | 150 | 36 | 32 | 110400 - 60E | ©® |Lwoso|e|e| 200
2020K15 | 20 | 20 | 125 | 36 | 25 oo 280
2525M15 | 25 | 25 | 150 | 36 | 32 1'224%% 32"62 LD-1| DN15 | CS80 | C-6 mgig ool 290
3232P15 | 32 | 32 | 170 | 36 | 40 - o|e| 490
2020K15 | 20 | 20 | 125 | 36 | 25 oo 280
2525M15A) 25 | 25 150 | 36 | 32 | DN | SUD 1w 1] DN15 | cs80 | -6 | oo0le | e | 290
3232P15A | 32 | 32 | 170 | 36 | 40 o|o| 490



http://www.mzginj.com
http://www.topshopw.com
http://www.mzgtool.com
http://www.mzcut.com

SpEIZE #l] Cylindrical Turning Tool

m MDQNE!
SPEIZEHI

—==71kK: A02
Ef4: Kot

MDQNR/L 1616H11 oL20 o o
2020K11 | 20 | 20 |125| 33 | 20 | 25 | DN..1104.. |CTM617|MD1103| [ 2 HL1814|e e| 150
2525M11| 25 | 25 | 150| 33 | 25 | 32 e o 200
1616H15 | 32 | 32 [170]31.5] 32 | 20 MS625 e o 140
2020K15 | 25 | 25 | 150| 39 | 25 | 25 | DN..1504.. MD1506| PL25 o o 150
2525M15 | 32 | 32 | 170| 40 | 32 | 32 | DN..1506.. |CT™819 MD1504| PL30 HL2114\ o o | 200
3232P15 | 32 | 32 |170| 42 | 32 | 40 o o 260
7
m VISBNE! B A =
SPEEH - i
o T | n
—=—71k: A03 N T
ERET5 E S
I
MSBNR/L 1616H12 | 16 | 16 | 100| 32 | 16 | 13 e o 140 %
2020K12 | 20 | 20 |125| 32 | 20 | 17 PL25 e o 150 i
S595Ni12| 25 | 25 | 150 | 32 | 25 | 20 | SN-1204. [CTMB17|MS1204| 25 | MS625 |HL1814| o o | o0
3232P12 | 32 | 32 |170| 32 | 32 | 27 o o 260 —
3232P19 | 32 | 32 | 170 37 | 32 | 27 o o 260
S o | 40 | 46 1200| 40 | ac | 35 | SN-1906.. |CTM1022 MS1904| PL40 | MS830 |HL2217 |0 O | o0 Z%
m 1
m VISDNNE e
SEE I n
—=—71k: AO3 —
FHEF: KO1
"
fL
%
Hi
1616H12 oo
2020K12 | 20 | 20 [125| 35 | 20 | 10 PL25 o|e| 150 —
SoaoNte | 25 | 25 |150| 35 | 25 105 SN..1204. |CTM617|MS1204| [0 | MS625 |HL1814| o o] o0 .
3232P12 | 32| 32 |170| 35 | 32 | 16 ool 260 P
2525M15 | 25 | 25 | 150 40 | 25 |12.5 PL30 olo| 200 =
aoaapte | 33 | 35 170! 40 | 33 | 16| SN-1506. | CTM822|MS1504) [ 20 | MS830 |HL2217 | ¢ | o | S0 f{]
3232P19 | 32 | 32 |170| 40 | 32 | 16 olo| 260
e | ao | 90 |200| 40 | 45 | 20 | SN--1906.. |CTM1022|MS1904| PL4O | MS830 |HL2217 | 0| 0| 420
m MSKNE g
ShEIZ A ) B
—==71F: A03 | Hr
FHi . KO il
%2625 I

MSKNR/L 1616H12 o e
;g;gmzz gg gg ]gg g’g gg gg SN..1204.. |CTM617|MS1204 l'ztgg MS625 | HL1814 | o | o ;gg
3232P12 | 32 | 32 |170] 35 | 32 | 40 ele| 260
;g:gw;’ :232 ?,2 :?g ig gg 4315 SN..1506.. | CTM822| MS1504 §t28 MS830 | HL2217 | o {2 ggg
iﬁi;:}g ig 25 ;gg 38 2(2) gg SN..1906.. |CTM1022|MS1904| PL4O | MS830 |HL2217 | o |2 igg



http://www.mzginj.com
http://www.topshopw.com
http://www.mzgtool.com
http://www.mzcut.com

Hi=E7)

CNC Turning Tool

H MSRNE!
ShE F &l

—=—71kK: AO3
FEF: KO

MSRNR/L 1616H12 ol e
2020K12 | 20 | 20 |125| 35 | 20 | 25 PL25 ole| 150
Soaon1s | 25 | 25 |120| 35 | 25 | 35 | SN--1204. |CTME17|MS1204| [ 50 | MS625 |HL1814| ¢ [0 | 00
3232P12 | 32 | 32 |170| 35 | 32 | 40 ole| 260
2525M15 | 25 | 25 | 150| 40 | 25 | 32 PL30 oo 200
3232P15 | 32 | 32 |170| 40 | 32 | 40 | SN--1506.. [CTM822/MS1504| "\ | MS830 |HL2217 | | | 96
3232P19 | 32 | 32 | 170] 40 | 32 | 40 olo| 260
S | 2 ool 40 | 4o | 5o | SN-1906.. |CTM1022 MS1904| PL4O | MS830 |HL2217 | o f o | 220
m MVSSNE Fr S
SpEZEH !
E T |
—=—71F: A03 ‘
FE: KOt & —
B eEI —j
&
%
Hill
" "MSSNR/L 1616H12 | 16 | 16 | 100] 35 | 16 | 20 el e 140
2020K12 | 20 | 20 | 125| 35 | 20 | 25 PL25 o|e| 150
1 2525M12 | 25 | 25 | 150| 35 | 25 | 32 | SN--1204.. [CTMBI7IMS1204| o, 5 | MS625 | HL1814 | o o' 500
el 3232P12 | 32 | 32 |170| 35 | 32 | 40 ol o| 260
1 2525M15 | 25 | 25 | 150| 40 | 25 | 32 PL30 olo| 200
s 2oaome | a5 | a5 1170| 40 | 33| a0 | SN-1506. |CTM822|MS1504| © 30 | MS830 | HL2217 | o | o | 200
" 3232P19 | 32 | 32 | 170] 40 | 32 | 40 olo| 260
|
i e | oo | oo L 200l 40| oo | 5o | SN--1906.. |cTM1022 MS1904| PL4O | MS830 | HL2217 =
" H WTJNE — -
5" aen N S
.
E ﬂy L1 ’ . ‘
3 c==T1E: A4
Al FHF: KO 6
4
hz
“@r
z WTJNR/L 1616H16 | 16 | 16 | 100 32 | 16 | 22 e o 150
2020K16 | 20 | 20 |125| 32 | 20 | 25 L2.5 o|e| 156
Sosona | 25 | 25 | 150 | 34 | 25 | 35 | TN.1604.. CTS15-T\MT1603| |20 |M5x23 HLT-16| 5| o 53,
3232P16 | 32 | 32 | 170| 34 | 32 | 40 o|le| 276
1]
o B MTJNE
ol SpEZEH
'};ﬁ —=—71kK: A04
I” FAEM: KOT
EERI3°

MTJNR/L 1616H16 | 16 | 16 | 100| 30 | 16 | 20
2020K16 | 20 | 20 [125| 28 | 20 | 25 PL20
2525M16 | 25 | 25 | 150 | 30 | 25 | 32 TN..1604.. |[CTM513|MT1603 PL30 MS625 | HL1814
3232P16 | 32 | 32 |[170| 30 | 32 | 40
2525M22 | 25 | 25 |150| 36 | 25 | 32 PLO5
3232P22 | 32 | 32 [170| 36 | 32 | 40 | TN..2204.. |CTM617|MT2204 PL40 MS830 | HL1917
4040R22 | 40 | 40 | 200] 40 | 32 | 50

OO0 O e e 0 o

O O OC e e o o

140
150
200
260
200
260
450



http://www.mzginj.com
http://www.topshopw.com
http://www.mzgtool.com
http://www.mzcut.com

SpBIZE ] Cylindrical Turning Tool

B ETJN93°
SpEE A ]s
L
—==J1kK: Ao4
FfEi . KO E—PE—A M-TYPE
oy @ 2

ETJNR/L 1616K16 oo
2020K16 | 20 | 20 | 125 | 32 | 25 | TNOO | SwmT ™ Lwozs| ® | ®| 280
2525M16 | 25 | 25 | 150 | 32 | 32 | 16040J0) | -322 | LT-3 | | |CSBOE| C-6 |\ "cle|e| 290 I
3232P16 | 32 | 32 | 170 | 32 | 40 o|e| 410 =
2020K16A| 20 | 20 | 125 | 32 | 25 o o] 280
2525M16A| 25 | 25 | 150 | 32 | 32 12'8'4%% Ss'g LT-3 12\'3 cs80 | C-6 mgig o o 1%
3232P16A | 32 | 32 | 170 | 32 | 40 - . |e|e| 410 i
T
B WTaNHE!
ShEIEHI
A
—=—71K: A04 E
Fft: KO !
FHEmB105° o = 1)
(il
WTQNR/L 2020K16 48
2525M16 260 &
3232P16 450 %
Hi
B MTQNE R
SpEIEH
"
—=—71k: A04 7l
T KO S
Al
2
MTQNR/L 1616H16 5
2020K16 25 PL20 150
2525M16 35 | TN..1604.. |CTM513/MT1603| [ 5 | MS625 |HL1814 200 ﬁ
3232P16 260
2525M22 32 PL25 200 -
ASRERs 40 | TN..2204.. |CTM617|MT2204| "~ | MS830 | HL1917 e
1]
E MTFNE! T I i
r O
e | o
L j]l]
—==J1kK: A04 ol T
T KO \:EI ] j S

MTFNR/L 1616H16 | 16 | 16 |100| 30 | 16 | 20 e o | 140
2020K16 | 20 | 20 |125| 28 | 20 | 25 PL20 e e | 150
2525M16 | 25 | 25 | 150! 30 | 25 | 32 TN..1604.. |CTM513|MT1603 PL30 MS625 | HL1814 | | § 200
3232P16 | 32 | 32 |170| 30 | 32 | 40 e eo| 260
2525M22 | 25 | 25 |150| 36 | 25 | 32 PL25 o|o| 200
3232P22 | 32 | 32 |170| 36 | 32 | 40 TN..2204.. |CTM617 | MT2204 PL40 MS830 | HL1917 olol| 260



http://www.mzginj.com
http://www.topshopw.com
http://www.mzgtool.com
http://www.mzcut.com

Hi=E7)

CNC Turning Tool

E MTGNZE!
ShE ZF &l

—==71K: A0o4
ER4: Kol

MTGNR/L 1616H16

2020K16 25 PL20 150
2525M16 32 | TN..1604.. |CTM513/ MT1603| "0 | MS625 | HL1814 200
3232P16 260
2525M22 32 PL25 200
3232P22 40 | TN-.2204.. |CTMB17/MT2204 " 0 | MS830 | HL1917 S
E MTBNH!
SMEIZEHI
—==71FK: A04
FELf: Ko1

MTBNR/L 1616H16
2020K16
2525M16

m wTBNE!
LNES

—==71FK: A04
FHEMF: KO

WTBNR/L 1616H16
2020K16
2525M16
3232P16

156
212
276

m MTENNZ!
SMEIZE H

—==71FK: A04
FfcF: Kot

MTENN 1616H16 | 16 | 16 | 100| 30 | 16 | 20 L) 140
2020K16 20 | 20 |125| 28 | 20 | 25 PL20 o 0 150
2525M16 | 25 | 25 |150| 30 | 25 | 32 TN..1604.. |CTM513|MT1603 PL30 MS625 | HL1814 ol e 200
3232P16 32 | 32 |170| 30 | 32 | 40 | e 260
2525M22 | 25 25 150 36 25 | 32 PL25 [e B¢} 200
3232P22 3 170 35 | 40 TN..2204.. |CTM617|MT2204 PL4O MS830 | HL1917 =~ 260
B WTENE!
ShEEH]
—==71K: A04
i K01 1{&%60"

WTENN 2020K16
2525M16
3232P16

150 | 36 | 25 [12.5| TN..1604..



http://www.mzginj.com
http://www.topshopw.com
http://www.mzgtool.com
http://www.mzcut.com

SpEIZE#l  Cylindrical Turning Tool

m MVJNE
SMEEH

—==71FK: A05
EFEiF: KO

MVJNR/L 1616H16
2020K16 AR
2525M16 MS625 | HL2414 200
3232P16 260
B EVJN93® ,:% Fl IB
ShEIZEHI
93° E .
;j;gé,f:q:Aos E-TYPE M-TYPE
=3 : KO1
e\ V

EVJNR/L 2020K16
2525M16
3232P16

E MVQNZ
SMEIZEH

~
27.5°

TRANTS

—==71FK: A05
EFEA: KO

MVQNR/L 1616H16 16 30 3]
2020K16 20 28 150 fl
2525M16 25 30 200 k-3
3232P16 32 30 260 Bl
E MVUNZ! —
SpEZEE 2
r
—==71K: A05 ZF
Ef4: Kot Bl
7]
MVUNR/L 2020K16 1
2525M16 200 1
3232P16 260 B
m MVVNH! hn
UNES L
—=—71FK: AO5
FfE: KOt

MVVNN 1616H16

2020K16 155
2525M16 200
3232P16 260



http://www.mzginj.com
http://www.topshopw.com
http://www.mzgtool.com
http://www.mzcut.com

4
Zx
Hl

H

2
g

l

MZG’ HiEE7)

CNC Turning Tool

m WWLNHE
ENEE

—=—=71kK: A06
FREH: Kot

WWLNR/L 1616H08
2020K08
2525M08
3232P08

150
200
260

WN..0804..

E MWLNE!
LNES

c==71K: A06
EEH: KO

MWLNR/L 1616H06 PL20
2020K06 25 | WN..0604.. |CTM513|MW0603| 5 50 HL1814 150
2525M06 200
1616H08 140
2020K08 25 PL25 150
P 35 | WN..0804..|CTMB17|MW0804| 0 HL1814 200
3232P08 260
B EWLN95° 1
SMEI % B LﬁF © i

E-TYPE
oL
AP =

—=—71k: A06 E-TYPE-A M-TYPE

FEME: K01 @j z@j TA

EWLNR/L 2020K06 WNOO oo
2525M06| 25 | 25 | 150 | 32 | 32 | 060400 | —a06 | B % |WN6-20 5o | C=5 | wo40| e | e | 200
2020K08 | 20 | 20 | 125 | 32 | 25 e o 150
2525M08| 25 | 25 | 150 | 32 | 32 ng’g'EDDD SZ"ZV;’ LW-4 \WN08-4| CS80 | C-6 mgig ole| 200
3232P08 | 32 32 | 170 | 32 | 40 B e|e| 260



http://www.mzginj.com
http://www.topshopw.com
http://www.mzgtool.com
http://www.mzcut.com

SpE ZE§l] Cylindrical Turning Tool

B SCLCH!
ShEIZEEI
==k A07

EfR: KOt

SCLCR/L 0808F06 o | o
1010H06 | 10 | 10 | 100 | 12 | 10 | 12 | CC-0602. T8 M2.5x7 | o | o 100
1212H09 | 12 | 12 | 100 | 18 | 12 | 16 o | o 100
1616H09 | 16 | 16 | 100 | 18 | 16 | 20 o | o 112
2020609 | 20 | 20 | 125 | 20 | 20 | 25 | CC-09T3. TIS ) Max10 g1, 120
2525M09 | 25 | 25 | 150 | 24 | 25 | 32 o | o 160
2020K12 | 20 | 20 | 125 | 23 | 20 | 25 o | o 120
2505M12 | 25 | 25 | 150 | 26 | 25 | 32 | cCC..1204.. T20 | M5x12 | o | e 160
3232P12 | 32 | 32 | 170 | 28 | 32 | 40 o | o 290

B SCKCH!
ShE % B _j]
} L
—=—=71k: A07
" T
L [&]
%
Hil
SCKCR/L 1212H09 | 12 | 12 | 100 | 20 | 12 | 16 o | o 100 —
1616H09 | 16 | 16 | 100 | 20 | 16 | 20 SO 112
2020609 | 20 | 20 | 125 | 23 | 20 | 25 | CC-09T3. TIS | Max10 | o 120 E
2525M09 | 25 | 25 | 150 | 23 | 25 | 32 o | o 160
2020K12 | 20 | 20 | 125 | 23 | 20 | 25 o | o 120
2525M12 25 | 25 | 32 | €C.1204. T20 | MSx12 gl 160 ﬁ
o
B SCFCH!
SPEIZEH "
==K A07 L
T KOT k-3
FIRAETS 1
, i
SCFCR/L 1212H06 | 12 | 12 | 100 | 16 | 12 | 16 | CC..0602.. T8 | M25x7 | » | ® 100 %
1616H09 | 16 | 16 | 100 | 20 | 16 | 20 o | e 12
2020K09 | 20 | 20 | 125 | 20 | 20 | 25 | CC-09T3. TI5S | Max10 T 120 B
2525M12 | 25 | 25 | 150 | 25 | 25 | 32 5o 160
3232P12 | 32 | 32 | 170 | 25 | 32 | 40 | CC-1204. T20 | MSx12 1 o1, 220 —
1]
m SCMCNZH! 2 il s
=]
SEZ ) iE B
c=71K: AO7 e ] | i
FEH: KO o hn
! K H T
- {

CC..0602.. T8 M2.5x 7

SCMCN 1010H06 10 | 10 | 100 | 13 | 10 | 5 o | o 100
1212H09 12 | 12 | 100 | 18 | 12 | 6 o | e 100
1616H09 16 | 16 | 100 | 18 | 16 | 8 o | o 12
2020K09 20 | 20 | 125 | 18 | 20 | 10 | CC-09T3. T15 | MAx10 uguing 120
2525M09 | 25 | 25 | 150 | 18 | 25 | 125 o | o 160
2020K12 20 | 20 | 125 | 23 | 20 | 20 e 120
2525M12 25 | 25 | 150 | 23 | 25 | 125 | CC-1204. T20 | MSx12 | ol 160



http://www.mzginj.com
http://www.topshopw.com
http://www.mzgtool.com
http://www.mzcut.com

MZG® BiEZET)

CNC Turning Tool

B SCMCN-1003!

SMEIFEH
==K A07
EEH: KOt

CC..0602..

SCMCN 1010H06-100 5 ° °
1212H09-100 | 12 | 12 | 100 | 18 | 12 | 6 o [ o 100
1616H09-100 | 16 | 16 | 100 | 18 | 16 | 8 o | o 12
2020K09-100 | 20 | 20 | 125 | 18 | 20 | 10 | CC-09T3. T15 | M4x10 | o | ¢ 120
2525M09-100| 25 | 25 | 150 | 18 | 25 | 12.5 o | o 160
2020K12-100 | 20 | 20 | 125 | 23 | 20 | 20 e 120
2525M12-100| 25 | 25 | 150 | 23 | 25 | 12.5 | CC-1204. T20 | M5x12 | g 1 160

B SCBCH!
SPEIZEH
==K A07
FEEF: KO
S
&
%
Hil
" "SCBCR/L 2020K09 | 20 | 20 | 125 | 12 | 20 | 17 o | o 120
" 2525M09 | 25 | 25 | 150 | 12 | 25 | 22 | CC-09T3. TI5 | Max10 | | 160
2020K12 | 20 | 20 | 125 | 16 | 20 | 17 o | o 120
Vel 2525M12 | 25 | 25 | 150 | 16 | 25 | 22 | CC-1204. T20 | M5x12 oy 160
1%
ﬁ m SCACHE F
HEEH F T
— X L L ‘
M —==71k: A07 ﬂ«
s s
o
SCACR/L 0808K06 | 8 8 | 125 | 10 | 8 8 o | o 120
f?é 1010k06 | 10 | 10 | 125 | 10 | 10 | 10 | CC:-0606.. T8 M2.5x7 | o | o 100
£ 1212K09 | 12 | 12 | 125 | 13 | 12 | 12 o | o 100
g 1616K09 | 16 | 16 | 125 | 13 | 16 | 16 | CC-09T3. T15 | MAx10 gl 112
__  mSDhJCH
B SPEIZEHI
]
7 c==71E: A08
%jg FEEF . KO 03
T

SDJCR/L 1010H07 | 10 | 10 | 100 | 14 | 10 | 12 o | o 100
1212H07 | 12 | 12 | 100 | 14 | 12 | 16 | DC.0702.. T8 M25x7 | o | o 100
1616H07 | 16 | 16 | 100 | 14 | 16 | 20 o | o 112
1212H11 | 12 | 12 | 100 | 20 | 12 | 16 S o 100
1616H11 | 16 | 16 | 100 | 20 | 16 | 20 o | o 112
2020k11 | 20 | 20 | 125 | 20 | 20 | 25 R 120
2525M11 | 25 | 25 | 150 | 22 | 25 | 32 | DC-MT3. TI5 | Max10 1o 160
3232P11 | 32 | 32 | 170 | 23 | 32 | 40 SO 220
4040R11 | 40 | 40 | 200 | 25 | 40 | 50 o | o 400



http://www.mzginj.com
http://www.topshopw.com
http://www.mzgtool.com
http://www.mzcut.com

SpEIZE #l] Cylindrical Turning Tool

m SDACH
ShEZEH

—==71F: A08
El i Kot

FRA0°

SDACR/L 0808H07 | 8 8 | 100 | 15 | 8 8 e | o 120
1010H07 | 10 | 10 | 100 | 15 | 10 | 10 | DC..0702.. T8 M25x7 | o | e 100
1212H07 | 12 | 12 | 100 | 15 | 12 | 12 o | o 100
1212H11 | 12 | 12 | 100 | 22 | 12 | 12 o | o 100
1616H11 | 16 | 16 | 100 | 22 | 16 | 16 o | o 112
202011 | 20 | 20 | 125 | 22 | 20 | 20 | DC-MT3. TI5 | MAx10 | g | 120
2525M11| 25 | 25 | 150 | 22 | 25 | 25 o | o 160

B SDFCH! K n
v H M -
v
=715 A08 i L
Fhet: Ko ZIN
]
%
Hi
SDFCR/L 1212H07 | 12 | 12 | 100 | 8 | 12 | 16 | DC.0702. | T8 M25x7 | o | e 100
1616H11 | 16 | 16 | 100 | 14 | 16 | 20 BE 112 1
2020K11 | 20 | 20 | 125 | 14 | 20 | 25 | DC-1T3. TI5 | Max10 ) 120 "
1%
Em SDQCH! ﬁ
AN N
f' ‘17.5° ‘ —
p R
—==71F: A08 ov{ o]
= . -
FRLHF: KO HRE107.5° : - ;L
i
SDQCR/L 1010H07 | 10 | 10 | 100 | 13 | 10 | 12 e | o 100 iz
1212H07 | 12 | 12 | 100 | 13 | 12 | 1 | DC.0702. T8 M2.5x7 | o | o 100 Pt
1212H11 12 12 100 14 12 16 o | o 100 —E
1616H11 | 16 | 16 | 100 | 14 | 16 | 20 R 112 5
2020K11 | 20 | 20 | 125 | 16 | 20 | 25 | DPC-1T3. TIS ] Max10 o1, 120 Al
2525M11 | 25 | 25 | 150 | 20 | 25 | 32 o | o 160
1]
B SDNCNH! &
SR ZEHl ]
T
—=—71K: A08 jjlu
E3 . KO1
FHEE Ko = {R62.5° =

SDNCN 1010H07 10 | 10 | 100 | 14 | 10 | 5 o | o 100
1212H07 12 | 12 | 100 | 14 | 12 6 DC..0702.. T8 M2.5x7 | o | o 100
1212H11 12 | 12 | 100 | 21 | 12 | 6 e | o 100
1616H11 16 | 16 | 100 | 21 | 16 | 8 DC..11T3.. TI5 | M4x10 | o | o 112
2020K11 20 | 20 | 125 | 21 | 20 | 10 o | o 120



http://www.mzginj.com
http://www.topshopw.com
http://www.mzgtool.com
http://www.mzcut.com

MZG’ HiE%E 7]

CNC Turning Tool

B SSBCH!
ENEES

—=—71k: A09
FEE . KO1

SSBCR/L 1212H09 . e | o
1616H09 | 16 | 16 | 100 | 14 | 16 | 13 o | o 112
2020K09 | 20 | 20 | 125 | 30 | 20 | 17 | SC-09T3. T15 | M4x10 | 120
2525M09 | 25 | 25 | 150 | 32 | 25 | 22 RN 160
2020K12 | 20 | 20 | 125 | 30 | 20 | 17 | SC..1204. T20 | M5x12 | o | ® 120
I =
= H SSKCH!
es ShE FH
pilll
T —==71k: A09
FHEE: KO1
FRAETS
S
&
o
i SSKCR/L 1616H09
2020609 | 20 | 20 | 125 | 25 | 20 | 25 | SC-09T3. T15 | MAx10 ey 120
Zﬁ m SSSCH!
SPEIZEHI
1%
? =71k : A09 ‘
Hil FRM: KO o
LI E —1
A
7L
E y
" SSSCR/L 1616H09 | 12 | 12 | 100 | 16 | 16 | 20 o | o 112
Hl 2020K09 | 16 | 16 | 125 | 18 | 20 | 25 | SC-09T3. TIS | MAx10 g 120
S 2525M12 | 25 | 25 | 150 | 25 | 25 | 32 | SC..1204. T20 | M5x12 | o | o 160
hz
% m SSDCNHE!
- SPEIZEHI
Hil
c=71E: A09
FEEF: KO
Y] T fa45°
]
1]
T
il
T SSDCN 1212H09 12 | 12 | 100 | 16 | 12 | 6 e | o 112
1616H09 16 | 16 | 100 | 16 | 16 | 8 SC..09T3.. T15 | M4x10 | o | o 120
2020K09 20 | 20 | 125 | 16 | 20 | 10 o | o 160



http://www.mzginj.com
http://www.topshopw.com
http://www.mzgtool.com
http://www.mzcut.com

SpEIZE #l] Cylindrical Turning Tool

B STFCH
SMEIZFER
==K A10
Elf: Kot

FRAE1°

TC..0902..

STFCR/L 1010H09 e | o
1212H11 | 12 | 12 | 100 | 16 | 12 | 16 o | e 100
1616H11 | 16 | 16 | 100 | 16 | 16 | 16 | 'C-1102. T8 M2.5x7 | g | o 112
1616H16 | 16 | 16 | 100 | 16 | 16 | 20 o | o 12
2020K16 | 20 | 20 | 125 | 22 | 20 | 25 | TC.16T3.. T15 | M4x10 | o | o 120
2525M16 | 25 | 25 | 150 | 22 | 25 | 32 o | o 160

B STGCH!

EN AT
—==71K: A10

EfcF: Ko

FRA1°

STGCR/L 0808H09 | 8 8 | 100 | 10 e | o 120
1010H09 | 10 | 10 | 100 | 12 | 10 | 12 | [1C-0902. T6 M2.2x6 | o | 4 100
1212H11 | 12 | 12 | 100 | 16 | 12 | 16 e | o 100
1616H11 | 16 | 16 | 100 | 20 | 12 | 20 | 1C-1102. T8 M2.5x7 gl 112
2020K16 | 20 | 20 | 125 | 22 | 20 | 25 e | 120
2525M16 | 25 | 25 | 150 | 22 | 20 | 32 | TC.16T3.. T15 | Max10 | o | 160
3232P16 | 32 | 32 | 170 | 22 | 25 | 40 o | o 220

H STWCH!

ShE ZF El
—==71kK: A10

FHELE . KO1

STWCR/L 1212H11 | 12 | 12 | 100 | 8 | 12 | 15.3 o | o 100
1616H11 | 16 | 16 | 100 | 8 | 16 | 19.3 R 112
202011 | 20 | 20 | 125 | 8 | 20 | 233 | ['1C-1102. T8 M2.5x7 [ g | o 120
2525M11 | 25 | 25 | 150 | 8 | 25 | 28.3 o | o 160
1616H16 | 16 | 16 | 100 | 12 | 16 | 21 e | o 112
2020K16 | 20 | 20 | 125 | 12 | 20 | 26 R 120
2525M16 | 25 | 25 | 150 | 12 | 25 | 31 TC..16T3.. T15 | Max10 7 m g 160
3232P16 | 32 | 32 | 170 | 12 | 32 | 38 R 220

Hil



http://www.mzginj.com
http://www.topshopw.com
http://www.mzgtool.com
http://www.mzcut.com

MZG

Hi=E7)

CNC Turning Tool

m SVJ*R/LE!
SPEIZEHI

—==71FK: A09
FHLF: KOt

ERE60° e

SVJ-R/L1616H16 16 16 100 32 16 20 ° ° 112
2020K16 20 20 125 32 20 25 VC..1604.. T15 M4 x 10 ° [ 120
2525M16 25 25 150 32 25 32 VB..1604.. ° ° 160
3232P16 32 32 170 40 32 40 ° ° 220

B SVV*N&!

SMEIZE HI
c=71H: A09
FR4: KOt

FIRMA72.5°

S

&

g SVV-N 1616H11 16 | 16 | 100 | 24 | 16 Ve 1103 e | o 12
2020K11 20 | 20 | 125 | 24 | 20 | 10 | VC-1103- T8 | M2.5x7 | o | e 120

— 2525M11 | 25 | 25 | 150 | 24 | 25 | 12.5 1103 o | o 160

1616H16 | 16 | 16 | 100 | 34 | 16 | 8 o o 12

1 2020K16 | 20 | 20 | 125 | 34 | 20 | 10 | VC.1604. s | maxto | ® | ® 120

75 2525M16 | 25 | 25 | 150 | 34 | 25 | 125 | VB.1604. x o | o 160

I 3232P16 32 | 32 | 170 | 34 | 32 | 16 o | o 220

%

Al msva*R/LE

— SPEIZEHI

A

7l c==71E: A09

ﬁ R KO +EAIT5

hz

pes SVQ-R/L 1616H16 o | o

% 2020k16 | 20 | 20 | 125 | 35 | 20 | 25 | VC..1604.. s | maxto | ® e 120

3 2525M16 | 25 | 25 | 150 | 35 | 25 | 32 | VB.1604. o | o 160

Hil 323216 | 32 | 32 | 170 | 35 | 32 | 40 o | o 220

- Bm SVU*R/LE

7 5h 1812

[=]

1] f

T c=71F: A09

7JID BEH: KO +ERO5°

SVU-R/L 1616H11
2020K11
2525M16
3232P16

16 16 125 16 16 25

VC..1108..

25 25 150 16 25 32
32 32 170 16 32 40

VB..1103.. T8 M2.5x7
VC..1604..
VB..1604.. T15 M4 x10

120
160
220



http://www.mzginj.com
http://www.topshopw.com
http://www.mzgtool.com
http://www.mzcut.com

SpE ZE§l] Cylindrical Turning Tool

B SRAPR/LE
SNE%H

c==71H: A25-26
FeE: Kot

SRAPR/L 1616H08 | 16 | 16 | 100 | 16 | 16 | 16.5 o | o 112
2020K08 | 20 | 20 | 125 | 16 | 20 | 205 | RP.08T2.. T8 M3x8 | o | e 120
2525M08 | 25 | 25 | 150 | 16 | 25 | 25.5 o | o 160
2020K10 | 20 | 20 | 125 | 203 | 25 | 20.4 o | o 120
2525M10 | 25 | 25 | 150 | 20.3 | 25 | 25.4 | RP-10T3. TI5 | Max10 | o1 160

H SRGPN&!
LNES

c==71K: A25-26 5
FEM: KO ]
%
Hll
SRGPR/L 1212H05 . e | o 1
1616H05 | 16 | 16 | 100 | 95 | 16 | 20 RP..0502.. T6 M2.2x6 | o | o 112
2020K05 | 20 | 20 | 125 | 11.2 | 20 | 25 o | o 120 2|
2525M05 | 25 | 25 | 150 | 14.7 | 25 | 32 ERNE 160 4
1212H06 | 12 | 12 | 100 | 10 | 12 | 16 o | o 100 ZF
1616H06 | 16 | 16 | 100 | 10 | 16 | 20 o | o 112 ]|
2020K06 | 20 | 20 | 125 | 12 | 20 | 25 | RP.0602. T8 M2.5x6 | o | o 120
2525M06 | 25 | 25 | 150 | 15 | 25 | 32 o | o 160 —
1616H08 | 16 | 16 | 100 | 11 16 | 20 o | o 112 .
2020K08 | 20 | 20 | 125 | 12.7 | 20 | 25 RP..08T2.. T8 M3x8 | o | e 120
2525M08 | 25 | 25 | 150 | 16.2 | 25 | 32 o | o 160 7l
1616H10 16 16 100 1 16 20 ° ° 112 E
2020K10 | 20 | 20 | 125 | 12.7 | 20 | 25 RP..10T3.. T8 M4x10 | o | 120 Al
2525M10 25 25 150 16.2 25 32 ° ° 160
B SRDPNEH! zi
SPEIZEHI %=
Al
—=—71k: A25-26
EEH: Kot R —
1]
&
1]
e
SRDPN 1616H08 16 | 16 | 100 | 16 | 16 8 o | o n
2020K08 20 | 20 | 125 | 16 | 20 | 10 RP..08T2.. T8 M3x8 | ® | 120 T
2525M08 25 | 25 | 150 | 16 | 25 | 12.5 o | o 160 —
1010H10 170 | 10 | 100 | 20.3 | 10 5 = o 100
1616H10 16 | 16 | 100 | 20.3 | 16 8 o | o 112
2020K10 20 | 20 | 125 | 203 | 20 | 10 RP..10T3.. T15 M4x10 | o | 120
2525M10 25 | 25 | 150 | 20.3 | 25 | 12.5 o | o 160
3232P10 32 | 32 | 170 | 203 | 32 | 16 o | o 220



http://www.mzginj.com
http://www.topshopw.com
http://www.mzgtool.com
http://www.mzcut.com

	1: MCFN../MCLN../ECLN../MCBN..
	2: MCKN../MCSN../MCGN../MCMNN-80
	3: MCMNN-100/MDPNN/MDJN../EDJN..
	4: MDQN../MSBN../MSDNN/MSKN..
	5: MSRN../MSSN../WTJN../MTJN..
	6: ETJN../WTQN../WTQN../MTQN../MTFN
	7: MTGN../MTBN../WTBN../WTENN/WTENN
	8: MVJN../EVJN../MVQN./MVUN../MVVNN
	9: WWLN../MWLN../EWLN..
	10: SCLC../SCKC../SCFC../SCMCN
	11: SCMCN-100/SCBC../SCAC../SDJC..
	12: SDAC../SDFC../SDQC../SDNCN
	13: SSBC../SSKC../SSSC../SSDCN
	14: STFC../STGC../STWC..
	15: SVJ../SVV../SVQ../SVU..
	16: SRA../SRG../SRD..

